
PACK P/M
1 Foot Pad(30x15x12mm) M91X12/M91XHD R57316 Plastic 4 G P
2 Foot Pad(25x13x12mm) M91X12/M91XHD R57317 Plastic 2 G P
3 Wing Nut (M6)(Vendor JB) M91X12/M91XHD R57318 Metal 4 G P
3 Wing Nut (1/4in)(Vendor HL) M91X12/M91XHD R77588 Metal 4 G P
4 Support Tube M91X12/M91XHD R57319 Metal 2 C M
5 Back Plate #1 M91X12/M91XHD R57320 Metal 1 C M
6 Back Plate #2 M91X12/M91XHD R57321 Metal 1 C M

7 Hardware Pack (Vendor JB) NEW M91X12/M91XHD R76981

M6x15mm Bolt (2)
M6x25mm Bolt (10)

M6 Nut (4)
M6 Flat Washer) (10)

4mm Wrench (1)
M6 Hex Wrench (1)

Winglet (4)

1 G P

7 Hardware Pack (Vendor HL) M91X12/M91XHD R77590

1/4inx1/2in  Bolt (2)
1/4in x 1 in Bolt (10)

1/4 in Nut (4)
1/4in  Flat washer) (10)

5/32in Wrench (1)
D11mm Hex Wrench (1)

Winglet (4)

1 G P

August 2023All Rights Reserved.ASHLEY® Page 1 Of 1

REPLACEMENT PART DESCRIPTION FORM

MRP#

MODEL #: M91X12,M91XHD
FACTORY USE ONLY!!

PART# DESCRIPTION USED ON: MATERIAL QTY.

NOTE: Part #s 3,7 for Vendor HL ONLY serial numbers beging with 63455
            Part #s 3,7 for Vendor JB ONLY serial numbers begin with 67614
            Part # 7 NEW for Vendor JB ONLY effective starting serial number: 676141492868

1
2

5

4

6

1

2

65

(M6) (1/4in)

3 (Vendor JB) 3 (Vendor HL)

7 (Vendor JB NEW) 

METRIC 

INCH 

7 (Vendor HL)


